
New Question Type Samplers — Grade 5 Math Answer Key 

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number  
of Points 

Correct Answer(s) 

1 Equation 
Editor 1.5.2.B 1 

Any correct comparison:  
8.6 < 8.65  
8.6 > 8.07 

8.65 > 8.07 
8.65 > 8.6 
8.07 < 8.6 

8.07 < 8.65 

2 Equation 
Editor 1.5.2.A 1 2, 10, 8, 1, 6, and 0.1 to create the expression 

(2 x 10) + (8 x 1) + (6 x 0.1) 

3 Equation 
Editor 2.5.3.E 1 105 

4 Equation 
Editor 1.5.4.F 1 128.10 

5 Graphing 4.5.9.A 2 Bar Heights of 25, 10, 20, and 45 
6 Graphing 4.5.9.A 2 Bar Heights of 0.25, 0.15, and 0.1 

7 Graphing 2.5.4.C 2 Any 4 of the following points:  
(0, 0), (1, 3), (2, 6), (3, 9), (4, 12), (5, 15) 

8 Graphing 3.5.8.C 2 (1, 1.5), (2, 2.5), 
(5, 5.5), (6, 6.5) 

9 Inline Choice 2.5.4.D 2 Additive, 6 more than 

10 Inline Choice 3.5.8.B 2 4, to the right 
2, up 

11 Hot Spot 2.5.3.I 1 6 shaded rectangles 
12 Hot Spot 3.5.5.A 2 Pentagon and trapezoid 

13 Drag and 
Drop 1.5.2.B 1 24.8, 24.75, 21.605, 21.48 

14 Drag and 
Drop 2.5.4.C 2 12, 24, 36, 48 

15 Multiselect 4.5.10.A 2 B: Tax paid on the value of a farm a person owns  
E: Tax paid on the value of a home a person owns 

16 Multiselect 1.5.2.A 2 B: 462.007  
C: (4 x 100) + (6 x 10) + (2 x 1) + (7 x 0.001) 

 


